Virginia High School League Scholastic Bowl
page 8
2008-09 District Competition

Match #16 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
He was replaced as Prime Minister by the Whig Earl Grey, despite ensuring the passage of the Catholic Emancipation Act. Who liberated the Iberian Peninsula from French occupation and then, with Blucher’s help, defeated Napoleon at Waterloo? 

ANSWER: Arthur Wellesley, 1st Duke of Wellington (accept either Wellesley or Wellington)

2.
It was a peninsula 6,000 miles long and 3,000 miles wide. It is separated from the rest of the world by oceans and a 30-mile-high mountain range. Its capital is Flanflasnic. Rats are the size of dogs. What is this giant-sized country visited by Lemuel Gulliver? 

ANSWER: Brobdingnag
3.
In 1950, this team drafted Chuck Cooper, one of the first blacks to play its sport. It struggled after the death of its 1986 draft pick Len Bias, ending three decades of dominance that started under Red Auerbach. Larry Bird and Kevin Garnette are more recent stars for what team that won the NBA title in 2008? 


ANSWER: Boston Celtics
4.
Its developers include Benjamin Robins, Antonin Prandl, and Gustaf de Laval. Eppendorf tubes are used in them.  The Air Force uses a large one to simulate high gravity.  Name this piece of lab equipment that uses rotation to separate substances of differing densities.

ANSWER:
centrifuge
5.
Whipple’s triad is used to diagnose it.  Its symptoms include sweating, shakiness, hunger, anxiety, nausea, double vision, and can even cause a coma.  It is defined as glucose levels below 70 milligrams per deciliter.  Name this term for low blood sugar.

ANSWER:
hypoglycemia (prompt on low blood sugar before mentioned; DO NOT accept hyperglycemia)

6.
Often dealing with waves and vibrations, it was studied by Pythagoras, Vitruvius, Galileo, Mersenne, Hermann Helmholtz, and Lord Rayleigh.  It is used to investigate earthquakes and to build concert halls.  Name this branch of science that studies sound.

ANSWER:
acoustics
7.
After this battle, the victorious Americans sank the Lawrence and Niagara. The winning commander wrote, ‘We have met the enemy and they are ours.’ What battle fought on September 10, 1813, allowed the Americans to recapture Detroit during the War of 1812? 

ANSWER: Battle of Lake Erie 

8.
The bassist in the band Capitol Offense, he wrote the book Quit Digging Your Grave with a Knife and Fork about his weight loss. After losing in Texas and Ohio, what former governor of Arkansas ended his campaign for the Republican presidential nomination?

ANSWER: Mike Huckabee
9.
If the syllables in one are reversed, the result is a trochee. It was used in ballad verse, in Greek tragedy, and by Shakespeare. What poetic foot has a short syllable followed by a long syllable, and is often associated with pentameter? 

ANSWER: iamb foot (accept iambic pentameter)

10.
A real member wrote La Caroline. A fictional member wrote the 1712 Overture and Oedipus Tex. What musical family’s patriarch wrote the Toccata and Fugue in D Minor, the St. Matthew Passion, and the Brandenburg Concertos? 
ANSWER: Bach
11.
This son of Kig Ban and Elaine was seduced by the Fisher King’s daughter, producing an son who found the Holy Grail.  Which knight of the Round Table escaped to his castle, Joyous Guard, after touching off a war with Arthur over an affair with Guinevere?

ANSWER: Sir Lancelot de Lac

12.
This literary character was described as ‘some scarecrow eloped from a cornfield.’ He was a suitor for the hand of Katrina van Tassel, along with Brom Bones. What schoolmaster ran from the Headless Horseman in ‘The Legend of Sleepy Hollow’? 

ANSWER: Ichabod Crane
13.
It was preceded by the Popular Front’s electoral victory over the right-wing CEDA alliance. International Brigades fought with the Republicans, while Nazi air units helped the Nationalists. What war, fought from 1936 to 1939, ended with the fall of Madrid? 

ANSWER: Spanish Civil War

14.
THIS IS A 10-SECOND COMPUTATION QUESTION.  An academic team has ten members. If the order in which they sit does matter, how many different ways could they occupy the four seats on stage? 


ANSWER:  5040
15.
Causing the Mariana trench and volcanic arcs, examples of it include the Nazca Plate, the Pacific Plate, and the Juan de Fuca plate.  Name this phenomenon that occurs a few centimeters a year in which one tectonic plate slides underneath another plate.

ANSWER:
subduction
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What Swedish word describes a government official whose job is to investigate complaints brought by private citizens?


ANSWER: ombudsman
1B.
What Hanna-Barbera cartoon character ran around with a smaller companion named Boo-Boo while stealing picnic (pick-a-nick) baskets and annoying Ranger Smith?


ANSWER: Yogi Bear
2A.
Eugene McCarthy, Robert F. Kennedy, Ronald Reagan, and James Rhodes were unsuccessful Presidential candidates in what year? 


ANSWER: 1968
2B.
The hardcover advice book Just Who Will You Be? is by what First Lady of California?


ANSWER: Maria Shriver
3A.
In 1987, there were only 22 remaining of this Western vulture left; now, there are 300.

ANSWER:
California condor
3B.
What river flows through the city of Warsaw? 


ANSWER: Vistula

4A.
Kay Bailey Hutchinson represents what state in the U.S. Senate? 


ANSWER: Texas

4B.
What protein is the main component of hair?

ANSWER: keratin
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Consider the regular polygon where each interior angle is 156 degrees.  How many sides does the polygon have? 


ANSWER:  15
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Two unit fractions have a sum of 18/65.  Find them.

ANSWER:  1/5 AND 1/13
6A.
Who appeared in several silent films with his comedic partner, Oliver Hardy? 


ANSWER: Stan Laurel or Arthur Stanley Jefferson
6B.
Momentum is conserved in all collisions, but in what type of collision is kinetic energy is also conserved? 

ANSWER:
elastic collision(s)

7A.
What Scottish biologist discovered the enzyme lysozyme and the antibiotic penicillin?

ANSWER:
Alexander Fleming
7B.
What two words are used to form the positive comparative and superlative forms of adjectives if the suffixes –er and –est are not used?


ANSWER: more and most
8A.
Along with Leaflock and Skinbark, who was the oldest of the remaining Ents in The Lord of the Rings?

ANSWER: Treebeard
8B.
What Puccini opera’s title character lives in Nagasaki, is abandoned by Lieutenant Pinkerton, and then commits suicide? 


ANSWER: Madama Butterfly
9A.
His predecessor was Victor III and he was opposed by the antipope Clement III. He received an ambassador from Alexius Comnenus and in response, convened the Council of Clermont. What Pope gave a speech there that started the First Crusade? 

ANSWER: Pope Urban II
9B.
German students on the university track attend what college preparatory secondary schools whose name has an entirely different meaning in the US? 


ANSWER: gymnasium
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. 12 + 5i is one root of what quadratic equation? 


ANSWER: x2 – 24X + 169 = 0 (complex roots are always conjugates) 

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Divide 70.0486 millimeters by .20 millimeters giving the answer to the correct number of significant digits.


Answer:  350.24 millimeters

Third period, 15 toss-ups, 10 points each

1.
Broadly speaking, it is a function that associates scalar with a n x n (n by n) square matrix. What is this value that equals ad – bc for a matrix whose top row is a and b and whose bottom row is c and d? 


ANSWER: determinant

2.
The latter part of this novel is set at Samson Raphael Hirsche Seminary and College. One protagonist will study psychology at Columbia, and the other will study to be a Rabbi. Reuven Malter and Danny Saunders grow up in Brooklyn in what novel by Chaim Potok? 

ANSWER: The Chosen
3.
Shabbat 156b of the Talmud mandates their use. While Conservative and Reform believers wear them during services, Orthodox believers wear one at all times, and Haredi men will also wear a fedora. What are these head coverings worn by male Jews? 

ANSWER: yarmulke or kippah
4.
Her sisters Berenice and Tryphaena were executed by her father. The eunuch Pothinus exiled her and installed her husband Ptolemy XIII as ruler. She had a son, Caesarion, by Julius Caesar. What last queen of Egypt was the last lover of Marc Antony? 

ANSWER: Cleopatra VII 

5.
An early form of it is Bakelite.  The resin identification code is used to sort its types in recycling; 1 is PET, 2 is HDPE, 3 is PVC, 4 is LDPE, 5 is PP, 6 is PS, and 7 is other such as Nalgene or Tupperware.  Name this common type of polymer product.

ANSWER:
plastic
6.
In The Tenure of Kings and Magistrates, he defended the right of the people to execute guilty sovereigns. He wrote the elegy ‘Lycidas’ and the tragedic play Samson Agonistes. He wrote the anti-censorship essay Areopagitica. Who wrote Paradise Lost? 

ANSWER: John Milton
7.
Several financial systems were ready for it in 1995, to account for bonds with 5-year or longer maturities. Minor issues occurred worldwide, but no apocalyptic issues came forth. What computer problem would have started the day after December 31, 1999? 

ANSWER: year 2000 problem or Y2K problem or millennium problem (accept bug in place of problem)

8.
MyNetwork TV is phasing them out. They were described as, ‘all about a couple who wants to kiss and a scriptwriter who stands in their way for 150 episodes,’ by the head of development at Telemundo. What are these soap operas on Spanish networks? 

ANSWER: telenovela(s)

9.
This seven-letter word comes to us from Greek words meaning ‘from’ and ‘to hold.’ What word refers to voluntarily not doing something, such as drinking alcohol or having premarital sex? 

ANSWER: abstain
10.
Established by the 1992 Maastricht Treaty, it appeared in computer records in 1999, and the first bills and coins appeared in 2002. It was adopted in Greece in 2001, Slovenia in 2007, and in Cyprus and Malta in 2008. What is this unit of currency worth about $1.55? 

ANSWER: the euro
11.
This website was established in 1995, served the San Francisco area, and was as its name implies, an email service. Its source of income are paid job and apartment ads in large cities. What is this website that offers for sale, community, jobs, services, and personals sections, and is named for its founder?


ANSWER: craigslist.org
12.
Amphibians and reptiles only have one.  In humans, the right one leads to the pulmonary trunk and the left one leads to the aorta.  It is the V in the medical device LVAD.  Name this chamber of the heart below the atrium.

ANSWER:
ventricle(s)

13.
This school contains Widener Library and the John F. Kennedy School of Government. Several of its buildings once belonged to Radcliffe College. What university located in Cambridge, Massachusetts, is a member of the Ivy League? 

ANSWER: Harvard University 

14.
Cuzak’s Boys, the last part of this novel, shows the title character’s family. The other parts include The Hired Girls, The Pioneer Woman’s Story, Lena Lingard, and The Shimerdas. What is this novel set in Black Hawk, Nebraska, by Willa Cather? 

ANSWER: My Ántonia
15.
Oliver O. Howard was its only director, and it was abolished in 1872. It also concerned itself with Refugees and Abandoned Lands. What Reconstruction agency provided 15 million rations of food and established over 4,000 schools for former slaves? 

ANSWER: Freedmen’s Bureau (accept Bureau of Refugees, Freedmen and Abandoned Lands before ‘Refugees’ is said)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This form of precipitation is often conflated with mist. The droplets often evaporate before reaching the ground even though the droplets are larger than those in fog. What precipitation consists of water droplets less than half a millimeter in diameter? 

ANSWER: drizzle
2.
Its Watts Bar nuclear plant produces tritium for nuclear weapons. It also includes Chickamauga Dam and Appalachia Dam. What federally owned corporation was started in 1935 to provide electric power to the area around Nashville? 

ANSWER: Tennessee Valley Authority or TVA
3.
This painting was stolen from the Marmottan Museum in 1985 and returned in 1990. In it, the sun is very indistinct, indicating a humid summer day over the harbor of Le Havre. What work by Claude Monet lent its name to an art movement? 

ANSWER: Impression, Sunrise
4.
This language got its name from a Portuguese word meaning ‘court official.’ Syllables have one of four tones, and dialects include Southwestern, Northeastern, Ji Lu, and Beijing. What is the most commonly spoken variant of Chinese?


ANSWER: Mandarin Chinese (prompt on ‘Chinese’)

5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Consider angle A to be 54 3/5o,  and angle B to be 38 11/15o.  Now, in degrees and minutes, find the sum of angles A and B. 


ANSWER:  93o20’ (93 degrees, 20 minutes)
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